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Answers to questions are to be given'only in English except in the case of candidates who have

opted for Hindi Medium. If a candidate has not opted for Hindi medium, his answers in Hindi

| will not be valued.
| ~ Question No. 1 is compulsory.
Attempt any five questions from the remaining six qu_estjons.
“Working notes should form part of the answer.”
1.  Answer the following : | : o 4%5:
(a) Following are the details of the preduct Phomex for the month of April' 2013.:
Standard quantity of material 5k
required per unit
Actual output ' 1000: units
Actual cost of materials used: % 7,14,000
m== Material price varisnce % 51,000 Fav)
Actual price per kg of material is found to be less.than standard price per kg of
material by % 10.

You are reduired'to calculate :

(i) Actual guantity and Actual price of materials used.
(if) Material U"sé.gé Variance

(iii) Material Cost Variance

FCT-H | - P.T.O.
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(b) MFN Limited started its operation in 2011 with the total p'roduc':tion:éapaéity of

(c)

@

2,00,000 units. The following data for two years is made available to you :

. 2011 2012
Sales units 80,000 1,20,000
Total cost (3) 34,40,000 45,60,000

There has been no change in the cost structure and selling price and it is

g

expected to continue in 2013 as wellli. Selling price is T 40 per unit.

You are required to calculate :

(i) Break-Even Point (in units)

(ii) Profit at 75% of the total capacity in 2013.

A company issued 40,000, 12% Redeemable Preference Shares of I 100 each

at a premium of ¥ 5 each, redeemable after 10 years at a premium of ¥ 10 each.

- The floatation cost of each share is T 2.

You are required to calculate cost of preference share capital ignoring

dividend tax.

¢

The following information relates to Beta Ltd. for the year ended 31% March

2013 : _
Net Working Capital
Fixed Assets to Proprietor’s Fund Ratid
Working Capital Tdmover Ratio
Return on Equity (ROE)

- There is no debt capital.

You are required to calculate :

()  Proprietor’s Fund
(ii)) Fixed Assets

-~ (iid) N_et Profit Ratio.

FCT-H
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2. (a The lsul_'nma,rized Balance Sheets ‘of MPS Limited as on 31-3-2012 and 16
31-3-2013 are as under : | |

Additional Information :

(R in lakhs)
Liabilities 31-3-2012 31-3-2_013 . Assets 31-3-2012 | 31-3-2013
T 2 | 2 2.
Equity share 40.00 50.00 | Land & 27.00 25.00
capital Building ' |
Securities - 1.00 | Plant & 2500|  34.00
Premium “Machinery
Account |
General 8.00 11.00 | Investments 3.00- 8.00
Reserve (Long Term)
Profit & Loss 10.30 12.70 | Stock 7.50 | 9.80
Account
10% Debentures - 5.00 3.00 | Debtors 9.25 11.15
Sundry 4.90 6.20 | Bills 1.77 1.65
Creditors ' Receivable
Provision for 5.00 7.00 | Cash & Bank 4.50 170
Tax Balance
Proposed 4.80 6.00 | Preliminary 0.80 0.62
-|-Dividend Expenses -
Corporate 0.82 1.02 |
Dividend Tax
78.82 97.92 | 78.82 97.92

(i) On 1.4.2012, the company redeemed debentures of ¥ 2,00,000 at par.

(i) During 2012-13 the company has issued equity shares for cash at a premium

of 10%.

(iii)

FCT-H

Provision for tax made during the year 2012-13 for % 6,80,000.

P.T.O.



@)
W)

(vi)

(vii)

(®)

(a)

@ |
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Dividend recelved on investment ¥ 50,000 in July 2012. .

A machlne costing ¥ 8,00,000 (WDV 71,20 ,000) was sold for ¥ 50, 000 dunng

the year 2012-13. o

Depreciation for 2012-13 charéed on pblant& machinery ¥ 3,30,000 and

£2,00,000 on land & building. |

Proposed Dividend and Corporate Dividend Tax of 2011-12 paid during the

year 2012-13. |

Prepare a Cash Flow Statement 4§%er Accounting Standard (AS)-3.

A skilled worker is paid a guaranteed wage rate of ¥ 120 per hour. The 6
standard time allowed for a job is 6 hours. He took 5 hours to complete the job.

He is paid wages under Rowan Incentlve Plan

(1)  Calculate his effectlve hourly . rate of ea.rmngs under Rowan Incentive

Plan. . ‘ .
(i) If the worker is placed under Halsey Incentive Scheme "(ASO%)J and he
wants to maintain the same effective hourly rate of earnings, calculate

the time in which he should complete the job.

ABX Company Ltd. provides the following. information relating to Process-B 10

(i) Opening Work-in-progress -  NIL

(ii) Units Introduced - 45000 units @ ¥ 10 per u;L_it .

(iii) Expenses debited to the process :

Direct material T65,500 gl
Labour : 4 90, 800 |
Overhead . < 1,80,700 |

(iv) Normal loss in the process - 2% of Input

FCTH
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(v) Work—in-progress -1 800 units |
' Degree of completion
Materials - 100%
Labour - 30%
Overhead - 40%
‘(vi) Finished oﬁtput S 42,000 units

(vii) Degree of completion of abnorr?%l_ loss :

Materials -  100%

Labour - 80%

Overhead - 60%

(viii) Units scrapped as normal loss were sold at ¥ 5 per unit.

(xi) All the units of abnormal loss were seld at ¥ 2 per unit.

You are required to prepare :

(a) Statement of equlvalent production.

(b) Statement showmg the cost of finished goods, abnormal loss and closing

balance of work-in-progress.

(c) Process-B account and abnormal loss account.

The following information related to XI. Company Ltd. for the year ended

31% March, 2013 are available to you :

Equity share capital of ¥ 10 each

- 11% Bonds of T 1000 _each

Sales -

Fixed cost.(Excluding Interest)
Fmanmal leverage
Profit-Volume Ratio -

Income Tax Rate Applicable

FCT-H

- ¥ 25 lakh

¥18.5 lakh
T 42 lakh

¥ 3.48 lakh
1.39
25.55%
35%
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You are required to calculate :

@ . Operating Leverage;

(i) Combined Leverage; and

(iii) Earning Per Share.

A company manufactures one main product (M,) and two by-products B, and g

B2' For the month of J anuary 2013, foﬂowing details are available :

‘Total Cost upto Separation point ¥ 2,12,400

M, B, B,
Cést after separation - < 35,000 T 24,000
" No. of units produced 4,000. 1,800 3,000
Selling price per unit %100 T 40 | T30
Estimated  net | profit  as - - 20% 30%
parentage to sales value
Estimated selling expensés as 20% - 15% 15%

percentage to sales value

There are no beginning or closing inventories.
Prepare statement showing :
(1)  Allocation of joint cost; and

(i) Productwise and overall profitability of the company for January 2013.

FCT-H
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(b) The following i'nformation is provided by the DPS Limited for the year ending g
31 March, 2013,

Raw material storage period 55 days
Work-in progress convefsion period 18 days
Finished Goods storage period . 22 days
Debt collection period | | - 45 days
Creditors payment period o 60 days
Annual_ Operating cost % 21,00,000

(including depreciation of % 2,10,000)

.[1 year = 360 days]

You are required to calculate :

(i) . Operating Cycle period.

(i) Number of Operating Cycle in a year.

(iii) Arﬁount of working capital required for the company on a cash cost

basis.

(iv) The company is a rharket leader in its product, thefe is virtually no

; competitor in the market. Based on a market research it is planning to

discontinue sales on credit and deliver ,products' based on pre-payments.

Thereby, it can reduce its working capital requirement sub.stantially.

What would be the reduction in working capital requirement due to such

decision ?

FCT-H ' . P.T.O.
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(a) Cost of a product or service is reqmred to be expressed in suitable cost unit. 4x4
State the cost units for the followmg industries : B ' - =16

(i)' Steel
(i) Automobile
(iii) Transport

(iv) Power
(b) Distinguish between cost allocation and cost absorption.
(c) Whatis debt securitization 7 And also state its advantages.

(d) Distinguish between factoring and bill-discounting.

(a) Pentax Limited has prepared its expense budget for 20,000 units in its factory  ~
for the year 2013 as detailed below :

3 per unit
Direet Materials _ | | 50
Direct Labour 20 |
Variable Overhead .15
Direct Expenses | ) : | 6
Selling Expenses (20% ﬁxed)- ' 15 |
- Factory Expenses (100% fixed) : 7
Adminisfration expenses (100% fixed) _' 4
Distribution expenses (85% variaele) 12 |
Total? 120

Prepare an expense budget for the f;%odil'cti'on of 15,000 units and 18,000 units.

FCT-H
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) PQR Company Ltd. is considering to select a machine out of two mutually 9

exclusive machines. The c_orhpémy’s cost of capital is 12 per ceht'and_ corporate

tax rate is 30 per cent. Other information relating to both machines is as

follows :

Machine - I
Cost of Machine : $15,00,000 -
Exp_ected Life _ 5 Yrs.
gzgriigtlﬁ;n;e (Before Tax and 2 6.25,000

Depreciation is to be charged on straight line basis :

You are required to calculate :

" (i) Discounted Pay Back Period

(i) Net Present Value
(iii) Profitability Index

The present value factors of ¥ 1 @ 12% are as follows :

Year ' 01 02 03

PV factor @ 12% 0.893  0.797 0712

Answer any four of the following :

(a)

(b)

T
i

“Perpetual inventofy system comprises Bin Card and Stlores' Ledger, but the

Machine ~ I1
¥ 20,00,000

S Yrs.

%8,75,000

04 - 05

0636  0.567

4x4
=16

efficacy of the system depends-on continuous stock taking.” Comment.

“Is reconciliation of cost accounts and financial accounts necessary in case of

- integrated accounting system ?”

FCT-H .
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“Operating risk is associated with coét structure, whereas financial risk is
associated with capital structure of a business Coﬁéérﬁ.”"Cﬁﬁcaily"eX'a‘mine this
statement.

What is venture capital financing ? State the factors which are to be considered

in financing any risky project.

State the ad\}antages of Electronic Cash Management System.

FCT-H
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(I-Ijnd_i Vé‘rsion)

e el o et e o &, i et e e

o fet ® 2 T IRt 1 geie @ | |
W e 1 e
A B A H § e uter el % s S o

g feafordt (working notes) I F 9 B TR

ﬁ%ﬁéﬂ‘ﬂw

(3) ¥E 3t 2013 % T SER T (Phomex) 1 foreror Freer ¥ :

o o o w5 e

IR AT -~ 1000 THTEEt
TR W < AR AN - ¥7,14,000
[ Wi ferEror ~ ¥51,000 (Fav)

™ | |

mﬁaﬁm%ﬁmaﬁﬁq:

() Vg T 6 aRalee T q SRt Sa
(i) R T frE

(i) TR T R
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@ TUE T (MEN) fefie ¥ 2,00,000 S 9 oot S SR @ 2011 &
TR Y R | < st b Frfert e ey fg s €

2011 2012
foorr & gt 80,000 1,20,000
FoF T %34,40,000 ¥ 45,60,000

. A EE oo faa e | o aRaes FE & aen 2013 7 off 98 @R @ v
Tt gm0 a R Y | |
Y ¥ 2198 & o5 ORI BT
() wu-fame g et o)
(i) 2013 9 $oT §HA F 75% W AN
@ 40,000, 12% Wer iR S @ T 2100 HE) W T s o
3t e Pt e €, St 10 St e 2 10 Wi ot et ot e §
smfrmarm T2y | _
ST T D SURIT A G YAITHR SRS Y AT St 0T HIFATC |
@ 319 2013 YA G AR A B FAC T (Beta) . ot e FrveAferi €
Y FraEier T , % 12,00,000
e T @ vl ot @ SROE 075
HraRiiet Sl Ao SN SR
I S (ROE) ! 15%
I FOTSH TR ¥ |
3T 379en & T wor Wi -
() Tty
(i) ol W
(i) ¥ I ST

- FCT-H



- (13) _
. FCT-H . Marks

2. (3 wadmw fA. (MPS Ltd) & 31-3-2012 wr 31-3-2013 =t dfwe o 8 10
T B
e
i 31-3-2012 | 31-3-2013 |  wwfwat | 31-3-2012 | 31-3-2013 |
4 4 - | 4 4
T 3 40.00 50.00 | s wd e 27.00 25.00
iRy et - 1.00 | Ha= wd 25.00 34.00
A S 8.00 11.00 | fafratsm 3.00 8.00
(KrefhTett)

FT-ET T 10.30 12.70 | T 7.50 19.80
10% FoTas S s00| 300 . 925 11.15
[FA AR 4.90 6.20 | s e 1.77 1.65
& fog ~5.00 700 | AvgwEdw | . 450 7.70
WETE EIcd)
TS AR 4.80 6.00 | WRfTF @ 0.80 | - 0.62
T e W 0.82 | 1.02 |

| | 78.82 97.92 | o 1 1882 197.92

e g

() 1.4.2012 F e X GEGET W T 2,00,000 3 FOTE 1 wivee fea |

(i) 2012-13 F T FIE A 10% mawm%ﬁma#ﬁwﬁw‘mm .
(i) =¥ 2012-13 H I T 6,80,000 1 F % Fere ST ot T |

@iv) wézol_zﬁ?so,mow%ﬁﬁmwmmmwn
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(v) a¥ 2012-13 & INF TF T9H e ama? 8,00,000 (T&1F g7 T 1,20,000)
= T 50,000 F =1 T | | |

(vi) o 2012-13 ¥ W= @ TR W 2 3,30,000 7T 9 T WS W T 2,00,000 B
T T | |

, (viij Y 2011-12 T IRATST AT T4 F7TT A ¢ s 2012-13 %aﬁmwm
o | . _ .

WW(AS)—3%WWWWWW u

@) meﬁzlzoﬁd&aﬁmﬁm@@u@aﬂwmw%l 6
Torelt ol (ST o T WS 6 i SRR § | OF I TEEIEA § 5 He S §HE ol
¥ | 3R Vo e ST ¥ ST TeTg 6 I R S d

(i) o HiewTe AT % STRnTa S weeh wfi HUe S e ST |

() R S T E SR A (S0%) F SR T ST Tl AT I T
nﬁ@mﬁw_mm%‘; q T W UFET T EE 9F F
TS X TF | |

(3 TEE (ABX) % T, vitear B @ Wt Frefaiad geed vee &l s 10

() vRfeTE A s (WIP) - NIL(sEq) |
(i) T ehTEl - 45000 Tt @ X 10 Wi W
(iii) wpan ¥ T o

w2 65,500

ST 290,800

‘ovcrﬁsm ¥ 1,80,700
(v) WA A ET - e e W 2%

FCT-H
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) T (WIP) . 1800 TR |
 quirsy Ao wEEh - 100%
5 - 50%
=T - 40%
 (vi) Fff © 42,000 TS
(vii) Wmﬁ@ma’%aﬂﬁ
| Rt - 100%
5 . 80%
IR - 60%

(viii) T &7 %) SR Tt T 5 uRT T w1 et § 9=l |
(xi) STEMEIH &7 i Wit gehreall T 2 Wi Tobrg i o W =il 7 |
(a) wqwmmfaam

(b) T o = P, mewmmp)ﬁaﬁ—cmaﬁm
foaRo

(c) WiHIT- B W 97 ST &3 Gl

31 A 2013 H TG &1 A oY ¥ o XL f. i Feeteiea geed o 6
U T |

. meiwi@ﬁilo%maw . z25emE
11% weEFEFT1000% - 185w
b | . RpEm
T T (=t ¥ SR 3348 V@
CEiPEHIGED | 1.39
-HE ST (Profit Volume Ratio)  *25.55%

A HH T () 35%
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T a1 ¥ R o T |

(i) HueH IS (Operating Leverage)
(i) ~EgHT S (Combined Leverage)

(iti) ST 37 3T (Barning Per Share)

aﬁ%mﬁ@g@m(Ml)wamaﬁBIWBzwﬁﬁmaﬁﬁ% | HE 8
SR — 2013 ¥ fow Prafefee e e ¥ | |

M, B, B,
. | W%WW . 35,000 %24,000-
S samtﬁ ) dem 4,000 1,800 - 3,000
ferpa T (it 3ote) %100_ % 40 Z30
A I[E o (a6 el - 20% 30%
o wfervre -
aﬁﬁaﬁmmw%\mqw 20% .15% | 15%

o1 gl

quaaﬁam fi= (Separation Poinf) T = P T T 2,12, 400 % | TRfr T
afem i o g &

Frafafed =i e s ge faerer dar #iv -

() EgE vt o i aer

(i) SRR T SR 2013 3 T et # BT oIk |

- FCT-H
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(® 31 = 2013 A FE @9 A 9 % forg DPS Tt it Frieted e wwH o 8
T WIET U SE - ss5fm
T FT (WIP) 37 UReH oraty 18
e AT o wwew sty | 221
T N ATy | 45 &=
AR H PIAE S THE 60 &&=
T TR AT ¥ 21,00,000
(BT ¥ 2,10,000 i Wi FQ W)
[T 7 = 360 {1 ]
3T e ¥ T o ST

(i) uR=Te™ =%-378Y (Operating cycle period)
(i) a9 # ufiEe™ 9% %t @@ (Number of operating cycle in a year)

(itf) Y % T TR T STHR OX aTafi e ST ) ol

L (V) mmﬁmﬁwﬁ U FHA ¥ | IS § S W g naws) T
¥ | ST O % SR O T Ao & R e W R e 7 e e A

T T ¥ SR W g S S lsﬂmwﬁsﬁatﬁraﬁ TervEHar §
yrer Ut S Y ST et € 1 3 TroRr & wrieier Ioh @ eravger w40
ot 81 et 2 |
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et S arera ST Y AR Y SUgER A S s e S iR |

Pretferfia e ot e 3o T v
(i) & (Steel)

(ii) SiferEeTEe (Automobile)

(i) uwReEEa (T ransport)

(iv) =T (Power)

Marks -

4x4
=16

AT iR (Cost Allocation) @7 @ STawmwor (Cost Absorption) & 9%

W HIAT |
SROT-TIIERToT ST § 7 T S Tl ot ot e ifey |

Wﬂﬁﬁ%ﬁ%@ﬁ%ﬁﬁﬁa‘mﬁfaﬁ .

yoday fefRs arm ®sREm o 20,000 wEa %fwzas% 2013 % fHefefEg =9a- 7

ENCAEITRE T
¥ nfr gt
TEaE] STl 50
VR s 20
- UREEAYie SuNea™ 15 -
T @Y ' -6
frrvEd oty 15
HREM & @9 (100% &%) T
TR @9 (100% ) 4
foeer % @ (85% uitarsiien) 12
FT 129

mﬁ 15,000 se6real = 18,000 m%mmwwﬁm
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@ ﬁﬂmﬁ?.ﬁWWMutuallyexclusiVe)Wﬁﬁﬁ@ﬁ%ﬂﬂ?tﬂ' 9
R @ ¥ lmﬁﬁﬁﬁmlzuﬁm%wmﬁ%%ﬂﬁmwaﬁ

=T 30 e ¥ | el & e o R Rreee ¥

A - 1 i I |
I Y © 215,00,000 % 20,00,000 |
e e S sm o sa
e &1 (36 e &l ) 3625000 875,000

T T YT & SER W = e S € ) SR s ¥ e o iR
(i) e T a1 (Discounted Pay Back Period)
(i) Y& T4 959 (Net Present Value) |

(iii) TR FSIE (Profitability Index)
a'{lz%%ﬁ%%{qaénﬁwmﬁw%ﬁa% \
a$ o0 0 03 . 04 05

CRL T HH @ 12%  0.893 0.797 0.712 0.636 0.567

7. ﬁm%nﬁaaﬁﬁﬁﬁw%wﬁh@:. '4x_4

=16

(3) T FAv Ol fa e aun R R 9 Wy €, Al 39 WUl S S |
T a1 W AR & R e 2R P ) s 1 feoro i )

@) T T S Jonel § ST el qen el svat o frere sevas & o
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@ “ofEem Sifes wre WRET 9 TS v, Sae g Sifes seaias e &
TSt FTE | SEte € 1 5 HUA BT SRS GET i |

S N P S At Y XS S S TS S S
W HIAT |

) _sﬁwﬁwmwmﬂﬁ%mﬁwaﬁﬁm
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